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Note : It is compuisory to attempt (6 ~6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Part Il while Q.No.9 is
compuisory. Write same Question Number and its Part Number as given in the question paper.

. R . - 2 2
Find H.C.F. of the Polynomials by factorization : x" -4, x~ + 4x + 4
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i Define Diagonal Matrix. .4’ ...J_i/T J CSA ) 240
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i Find the Determinant A = [ 2 .2 ] q)’r}”d’y (ii)
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| Express in Scientific notation. 49,800,000 LA ()
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I Find the value of " x " . Iug3x = 5 -’q{ﬂb’_"ﬂEJ "ox " (vi)
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Solve the equation. \IZX -3 -7 =00 -253-{,-" PRSI (ii)

Find the Solution Set of : |2x + 5‘ = 11 "V:"?’b"'fd' (iii)
Define Origin. LA S e v

-Q/r:“‘(f! g e o m LA y = mx +cf 3x + y-1=10 ...:-.«bl.#dxd: v)
Find the value of m and c of the given line 3x + y -1 = 0 by expressing it in the
form of y = mx + ¢
A(-8,1),B(6,1) -/ Plobonlusinl st (vi)
Find the Distance between pair of points A(-8,1), B(6,1)
A(2,-6), B(3,-6) L/ Pulienbunizlss wi
Find the Mid - Point between the pair of points A(2,-6), B(3, -6)

What do you mean by S.S.S. =4 §.58.S. Postulate ? Tq...,Jb‘Lf ¥ - - ...u"..ul'gub.u;..u" (viii)
Define Bisector of an Angle. e _g/T J ot ¥ =23 (ix)
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If 3cm and 4cm are lengths of two sides of a right angle triangle, then what should
be the third length of the Triangle?

Define Proportion. LW S i)
Write down the formula of Pythagoras Theorem. ..u..‘,‘i._f ¥ 2.l (iii) w
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Define Altitude or Height of a Triangle. _6:.5‘} S LY st (iv) \
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mCA = 5-2cm, mBC = 4+2cm, mAB = 3:2cm AU KABC &t (vii) 3
Construct a Triangle ABC in which mCA = § *2cm, mBC = 4 - 2cm, mAB = 3+ 2 em “
Find the value of " x" in the given diagram. — ng)v.-.«:J xt ALIS v |
{
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(4) Solve by Cramer's Rule. o ; ..f:}g;,,j’c:.),cbf;_-):"[}' Lo A7 () Sﬂd'ri
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(4) Use Logarithm table to find the value of : ﬁ\_,:/p]-".:a_‘f & Sk L(J"’zﬁ () {)/:‘Uir
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If X + —i— = 3 then find the value of X g
X
(4) Factorize. x3 + 48x - 12x2 -064 .,‘,,j/df-. () 7/-_)Jfr
4 3 o 3 i3 5
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Find the Square Root of following expression by Division Method
& G 7P - o+ 1

(4) Solve the following Inequality. .-u:/:,,‘w ,-(..:.:,fsi//ﬁ,fjfy,u (i 8/1)':*’
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4} -u‘:fr(c@z") swf el Lt Lf“ Lk PQR & ()

me P =105° » msQ =30° ¢« mRP = 3.6cm

Construct Triangle PQR and Draw Altitudes of its sides.

mRP = 3.6 cm , mLQ =30° and ms P = 105°
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Any point Equidistant from the End Points of a line segment is on the

right bisector of it

OR
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Triangles on the same base and of the same (i-e.equal ) altitude are equal

in area.
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; T ..9.. o . i e ———— s i e gl ¢

]_'T'hc value of 1 is -1 (D} [ (<) -1 (B) 1 {A) : q._;;-g J §

2 la® =a )

If a~ = n, then

a = lognx (D) «x =Iogna (C) X = ]ugan By a = logxn (A)

2 2 2 2

{ a + b (D) a - b ) a -b (B) «~a” +.b (A)
U o e commme = e me e s R} . S
fé.%gdﬁ/;)b/ x© + dx + m &L&EJJ "m"
1
{Find " m " so that x2 + 4x + m is a complete square
L]
i 16 (1D} 4 (C) -8 (B) ] (A)
: The Square Root of a>.2a+1 is ; : & d_/‘,u,'.., € a® - 2a + 1
' a + 1 (L) F | ¢ * (a-1) B) £ (a1} (A)
e NG R R B
(X = 0 is a solution of Inequality ] q_.dzbf..:{u Lobled x = 0
{
! -2 <0 (1) x 2 <0 () 5x+5 <0 {B) x >0 (A)
' : 4
_[;lf ¥ = 2x + 1, x = 2 (then y“us & Loy doy o= 2x + 1, x =2 /I'|
i 5 (1) 4 (C) 3 (B) 2 (A)
JA Triangle having all sides equal is called : § L}W/ il JQJLLL’M::"LJ%.Q
! None of these e Ll (D) Equilateral (sl (C) Scalene Lo (B) Lsosceles AU~ (A)
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Note : It is compuisory to attempt(6--6) parts each from Q.No.2, 3and 4 Attempt any (03) questions from Part Il while QHNo9 is
compulsory. Write same Question Number and its Part Number as given In the question paper.
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36=2x18 Make diagram where necessary. ol t«d‘y"ndu/uh? ! .|’,a> !

! ) 1
: Define Scalar Matrix. -cf.: .._al-'/ { ._.r’ﬁ'/’c (i) Z/U]r",'
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Iind the Determinant

A
Define lrrational Numbers, ....J”..-’/ -" Nl "i-” (1i1)

!
]
!
5 -4 3 2 :
Use laws of Exponents to Simplify : (2xy M-8x ) _L{x,""’;_auowlk._v..w’ (iv) :
. {
Express in Scientific notation. B3,000 E‘f'uf(.z./\j""\/ (v} :
-2 }
Find the value of " x ", l“E’;MX =3 - *i(y*”_,./’\_,( xS V] :
1
Define Monomial Surd. .,;_,f/(....;'e«'/’.' J (JIJIAPJJ.-__[ (vii)

u.f./r"‘":fzd/ab?a+b 5,a—b=\|1—7‘/’!(‘,-ﬂj}

If a+b =25, a-b = J17, then find the value of ab.

i}

Factorize. 128211112- 242an’ -L,_{/ru’f? (ix)
Define Highest Common Factor ( H.C.F.). -4-—?/‘7 J (}"—’i‘ (i) 3/'-{)'3’

Solve the eguation. \[x -3 -7 =0 -4&/ =l (i)
Solve. |3x + 2| 4 = 11 W(iii)
_u/r)*wdy,-:s'us.«iém_’, 11), B(3,-4) s8LE (iv)

Find the Mid Point between the given pairs 0f points A(3,-11), B(3,-4)
-2_‘,{’)”:4?;,( ¢l m;»*.’&i..);;l&,ﬁ y = mx + ¢ i/ 3-2x +y =0 bl (v)

Find the value of m and c of the equation/3 - 2x + y = 0 by expressing it in the form

of y = mx + ¢ _

Draw the points (-3,-3), (<6, 4)on’ Graph Paper. -gq'ul;{';:?_jl/ S (-3, -3),(-6,4) b® (vi)
SGprdoigend A(3, -11), B(3,-4) sl E s (i)

Find the Distance between the given points A(3, -11), B(3,-4)

State S5.5.5. Postulate. 4;}&:;:‘:‘ L,"' J.. {vill)
Define Parallelogram. c?-...ﬂ/" u E et daie (ix)

S A e : ¢ oo |
Define the Right Bisector of a Line Segment VP Pt (1) 4y

-;{/JL&:LU-J_U‘JUQPJCWILJK 7em sl 4em, 3 em (i)

3e¢m,dcem and 7 em are not the lengths of the Triangle. Give the reason.
Define Congruent Triangles. Ry bl i)
a=5cm,b=12cm, ¢ = 13cm *5:.,::!;1,.-}[?&3‘ E q/@ﬁ.@g’wuwﬂméw (iv)

Verify that the given measures of sides of a Triangle is a Right Angled

a= 5¢m,b=12cm, ¢ = 13cm

Define the Rectangular Region. _Q/l@} J-\S)Lnu.l.,;—!nl-u (v)
Define Centroid of the Triangle. gl S Ll (vi)
mAB = 3c¢m, mAC = 3+2cm, mZLA = 15° AL LABC &b (vii)

— e o
' Construct a Triangle ABC in which mAB = 3cm, mAC = 3+*2cm, ml A = 45

ag3 s i " wo . : 3 ol s o -| B & {\.m
Find the value of " x" in the given figure . g é;:"’..a:’_f X Lﬁyd"d; i)

5 cm

Find the Area of the given figure. n.,f/((}”j: 1 Ucdrd) {ix)
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Ix - 2y =1 7 - & y . ‘ﬂ
) 9% b Oy & g Fesalfd5 £ 4 UIads () s
. . , 3x - 2y =1
Solve the given equations by using Cramer's Rule. ’
“2x+ 3y = 2

|
!
a21 2m 2n .
(4) Simplify ( [+m) (am+n) (an+] ) "4;3 () i
i

|
|

1

ey

(4) Use log table to find the value of ‘bf)?’w":"‘-’j & B L(Js(%b')’ (4 G/,UF:’

0:-678 x 9+ 01

i
|
0-0234 ';
|
B 1 'é
(4) 4&?,],/“0 X3 + _1__ ;},‘_ X+ = W /’T () :
3 f
|
1 . 3 |
If X+ = =8 then find the value of X *73x {
X i
|
(4) Factorize. 8x3 + 60x2 + 150x + 125 - :/,Lj';/f () 7/-,’;;)1:'1
Jp BPuig ¥ &° 3 2]
@ L B ¥ ax® + Toxy + 9y” + 16x + 24y +16 (T Puk ()

Use Division Method to find the Square Root of

& 2

4x" + 12xy + 9y~ + 16x + 24y + 16

(4) Solve the following Equation. -L[/LJ’ el S5t ) 840w
£ 2
X+ 3 = Z(x __3-)_5,(
@ U Lyl s Lt ABC &b ()

mAB = 4.2c¢m, mBC = 6cm, mCA = 5.2cm
Construct a Triangle ABC and draw the Bisectors of its angles.

miﬁ = 4.2cm, m_B-E= GCm,ma = 5.2 cm

(8) - t‘n.’-‘wldsl/:-u:}l,ﬁu'wﬁ_pﬁ{& té:,;!}u{!/u:f:qb‘ 9;{)1:"

Prove that any point on the Bisector of an angle is equidistant from its arms,

OR

_Jumur_ﬁ.}uumuf,@ﬂ 2! d....ﬁG'Ld)'u:.ﬂ?U:ff ,.fgrj‘:f(u.':/.b _

Prove that Triangles on equal bases and of equal altitudes are equal in area.
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